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2.2.1 REROFN, =, B, Bk SEN

1. B8 WMREBEE u(x), v(x)ER X E, e
MIRA. 2. R, H (G EAAF)VER A
%, 3FH
(1) [u(x) £v(x)]" = u'(x) £ v'(x);

(2) [u(x) - v(x)]' = u'(x)v(x) + u(x)r'(x);

3) [u(x) , ' (x)v(x)—u(x)v'(x)

v(x)] = V() (v(x) # 0)}

'l'
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i (1)« (2) B%.
E® & rx)=" (v(x)=0),

v(x)

s e J(X+HR) = f(x)
J (x)=1m P

u(x+ h) B u(x)
v(ix+h) v(x)

= lim
h—0 h

_ im u(x+ h)v(x)—u(x)v(x+ h)
h—>0 v(x+ h)v(x)h
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[u(x + h) — u(x)lv(x)—u(x)[v(x+ h)—v(x)

= lim
h—>0 v(x+ h)v(x)h
u(x+h)—u(x) V() = 1(x)- v(x+ h)—v(x)
= lim h h
h—>0 v(x+ h)v(x)

_ u'(x)v(x)—u(x)v'(x)

[v(x)]°
. f(xX)FEXAE T B
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O WACTES WAL

() [CFI = CF'(x);

3) [1'[ [N = £, () f2(x) £, (x)
et £ LX) L)
=TT A0 f, (o

zlkl

il Hf,-(x)—fl(x)-fz(x)----fn(x)
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2\ Bl HR ; i

l =2sinx+—Inx— . |——cos—, 3Ky
By 3 - 3 R

¥ =2(sinx) + %(ln x) — ﬁ(x'i )’ — (cos E)'

3
i 2

=2Cosx+—+
3x 2xvx
12 3K y=sin2x-Inx R FH.
B cy=2sinx-cosx-Inx

y'=2cosx-cosx-Inx+2sinx-(—sinx)-Inx
) 1
+2sinXx-CoSX-—
1 X
=2cos2xInx+—sin2x.
X
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B3 R y=tanx K FE.

Sin X

fiR y' = (tan x)" =(

)I
COS X
~ (sin x)"cos x — sin x(cos x)’

CoS” X

cos’ x +sin’ x 1 )
— : =———=sec’ x
cos’ X cos’ x

Bl  (tanx)’ =sec” x.

AT A (cotx)' = —csc’ x.
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fla R y=secx T .

1
gy =(ecx) =(—)
COS X
—(cosx)’  sinx
= = = > — = secxtanx.
COS X COS™ X

Amaa (escx) =—cscxcot x.
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2.2.2 FEABRSH
EE MREH x =o(nEREXIE I ARR. TS
Ho'(y)#0, BREMREH y= /() ERRKE

I AERIS, BEf(x) = ,1 :
@ (y)

Bl RESHNSBFTERRASHROEY .
WEBA  fFElx eI, AxPIEEAx (Ax#0,x+Ax e 1))

Hy = f ()RR Ay =0,

.r_°£=l°1=1|]’=1‘
"f(x)_}vlgloAx A;glog o' (p) /1) ?'(y)

un
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il 5
i

H (sin y)' =cos y > 0,

= smny‘I € (—— —)|7Sl|§

R y = arcsin x K] 52X.

1. Al ,
1‘5: I e (—LPW%

T 1
(arcsinx) = ——— = =
(sinyy  cosy J1-sin® y
(arcsin x)! =
\/ 1-x°
1 =T 1
FIERR  (arccosx) = —
\/ 1-x’
(arctan x)’ ! (arccot x)’ !
= s (arccotx) =— :
1+ x’ 1+ x’
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223 BEERMHIKFEN

EE WMERRBu=e(x)ER x,0F, My=f(u)
ErRu, =o(x)A S, WEAERHK y= flp(x)IES

x, /13, BEIEHN

d [ [4
A = ) 9'(x,)-
dx

nn

Bl BETEXNETERS, FTETEXHIE
QIEJJRE FLPETZEMNBTERS . (#HRN
SEN )
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SERR iy = SRR - lim 2 = ()
Ay

W —=f'(u,)+a (lima=0)
Au Au—0

W Ay = f'(u,)Au + aAu

R | A , Au Au
e T Ml f ) e ]
Au Au

=) it e

= f'(uy)p'(x,).
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HEr )& y=fu), u=e), v=y(x),
NEESRE y = floly (OO

dy dy du dv
dx du dv dx
Bl6 SRR y = Insin x K1 FH.
iR v y=Inu, u=sinx.
dy dy du 1 _ HEbes
Cdx du dx ;-cosx sin x = cotx
’ 1 . ’
—fg )y =— (Slnx)=c?sx=c0tx
sin x sin x
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B7 REBEH y=("+1)" K.
m Y 10(x* +1)° - (x> +1)
dx
=10(x* +1)” - 2x =20x(x" +1)°.

Bls  REH y=c * HISH.

, sinl . 1 , sin1 1 1 ,
M y'=e *(sin—) =e ~*-.cos—-(—)
1 X X X
1 sin— 1
=——>e *-cos—.
X X
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Jx2+1

B9 KEAEL y =1In - (x > 2) FI 5.
Yx =2
® o y=%ln(x2 +1)—%ln(x—2),
;1 1 1
LYy =5 2x—
2 x +1 I(x—2)
X 1

- x2+1_3(x—2)
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B 115RBREL y = gx/az —x’ +a7arcsin£ 1152y .
a
(a > 0)

2

iR —(—\/a - X )+(Tarcs1n )

a
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Bl EBREEHRFAR: (") = pe
Eyg ik (x:”)! — (e:lnx)r 1= e,ulnxu._fu In x)l
=x"-U .; = LX
2.2.4 HIFREHFEHEE
L HERE A SRS SRR

(1).(CY =0, (2). (x*) = pe*™,

(3).(sin x)’ = cos x, (4). (cos x)' = —sin x,
(5).(tan)’ = sec’ x, (6). (cotx)' = —csc”’ x,
(7).(sec x)' = sec xtan x, (8). (cscx)’ = —csc xcot x,
(9).(a”) =a” Ina, (10) (e¥) = e*,
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1 1

(11).(og}) = , (12).(Inx)' = —,
xIna X
(13). (arcsin x)’ = 1 , (14).(arccosx)' = — 1 .
1-x° 1-x°
(15). (arctanx)’ = = (16).(arccot x)’ = — 1 .
1+x 1+ x
2. REFWIA. 2. B, ARREN
W u=u(x),y=v(x) #PE]F, N
D.(uxv) =u"xv', (2). (Cu) = Cu',
3). (wv) = u'v +uv', ). (5) = ——"" (v = 0)|
V p

3. RERBHIK =N
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3. & RBHIREN
&y = f(u), Mu=p()UEESRE y= fle(x)H

@%ﬁ%;’—% DA y(x)= fiu)9'(x).
x du dx

?’i ] LR AR BN R BOR T HE ] e 2R

AR VIFRBH FBAINRIFREL .
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RESRS .

1 \/:\/—jz
N
Jx+1+/x-1"

). Wy=x“+a* +a“ (a>0),3K y.

3. p=e" arctanx’—1,3K ) .

4. KEEE y= f"(sin x) I SEL, £

Af ()R]

=]
B

<=2 NJUPT




\/F\/—jz

Jx+1+Jx-1"

2x—2\/x -1

et JE RS

B y=

2
2

X

1
=1
PN

-(2x)=1-

sz—l

2. Wy=x"+a* +a* (a>0),3K y.

a__a“—1

& . y=a"x

+lna cax®!
+na-ax Ina
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3. y=e"* arctanyx:-1,K ¥ .

% : Y =( esinxfcos x<2x )arctanyx’ —1
1 1

x> 2xt 1

F esinx ( . 2x)

. 2
= 2x cos x2e"™ arctanvx? —1
1

<+ sin x?

xvx’ =1 ©
R : WEESRBEH

. SMEE
P

£ N




4 REE y=f"(sinx) NS, Hb (v S.
& y' = nf""(sinx)-[ f(sin x)]’

= nf "' (sinx)- f'(sin x)(sin x)’

=nf """ (sin x)- f'(sin x)cos x
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1. RILIEEAEAADRFEKZFEZEN.

2. RASGEENSRYE (EERED BRI,

ek : S 2-2 1---4

whE: @822
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